SAFELY

HCA

Remotely possible

Severity + Probability + Frequéncy + = Total | = Critical Rating
1 | Fatality of permanent total loss disability 1 | Likely to occur immediately 1 | > 75% of day 3-4 1
2 1 Loss time injury 2 | Probable in time 2 | 50% - 75% of day 9 56 2
3 | Reportable injury, no loss time ’ Possible in time 3 | 25% - 50% of day 97_-180 j
4 | Minor medical treatment 4 4 | « 25% of day 11-12 5

To calculate a rating:

Severity rating + Probability rating + Frequency rating = Total hazard rating =

Example:
A Severity rating of 1
A Probability rating of
A Frequency rating of 2

A Total hazafd rating of 6 would be a critical rating of 2 '

Critical rating

Apply this Critical rating into the box titled ‘Hazard’ with the name of the hazard




